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800000 + 2 = 400 000
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or
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Identifies the correct minimum monthly cost (£40.50)
‘and shows either another correct monthly cost or a
correct method for another monthly cost
o9
* £4050in answer box with
£49.17 shown elsewhere
* £4050in answer box with
2650+2x 15 shown elsewhere

or

Identifies the correct minimum monthly cost (£40.50)
‘and shows £486 and another correct annual cost

Gives any correct monthly cost (see additional
quidance)

)
* £4050
o €497

or

Shows corract methods for the minimum cost and
‘one other but without a correct result, and gives an
‘answer consistent with ther results
o
265427 =445 orror)
265+2 15is more
Answor of £44.50
* 590+ 12 = 39.33 (orror)
265+2% 7 = £199.50 (orror)
Answer of £39.33

Shows a correct method for a monthiy cost but with
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~ Annusl memberships: £49.17 (£5%0)
230 + 2 x 180 = 550
590 + 12 = 49.1666 (condone 49.16)

25+2x15
3542165268
68x 2 x 4 (condone 1 month - 4 weeks)
- Add-on memberships: £40.50 (£486)
265+2x 7 (cheapest)

- Eamily swims: £58.00 (£696)
7.25 x 2.x 4 (condone 1 month = 4 weeks)
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Correct response

Additional guidance

m

Gives a correct arrangement using each of the
numbers 1 to 6 once only, ic for each 3 digit
number

hundreds _tens

units
s or6| [20r4| |1or 3]

g

« 5434621

u 6414523

1m| Gives a correct arrangement using each of the
numbers 1 to 6 once only, ic for each 3 digit
number.
hundreds tens units
ors| [tor3| [4or
o
. 5144236
" 2164534
@
Im| 536 - 421 or 356 - 241  Incorrect order of subtraction

e
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Correct response

Indicates Yes and gives a correct explanation
that shows or implies both of the values 40.75
and 41.375

@
* 712543224075,
7.5 %125 + 32 = 41375,
50 they both round to 41
875 + 32 rounds to 41 and so does
75+ 32
75 gives 9 and 9.375 gives 9 before
adding 32, so they will end up the same

Shows or implies both of the values 40.75 and
41.375 even f there i an incorrect or no
decision, or incorrect further working
@
‘s Tom wears 40.8 and Karl wears 41.4 s0
don't wear the same size
= 40.75 and 41.375 s0 they both wear 40

Shows the value 41,375

Shows the value 40.75 or 41
with correct working.

e
. 75x125432=41

or

‘The only error is to add 1.25 rather than
‘multiplying.

ey
‘s Indicates No and shows the values 40.75
and 40.25
= Indicates No and shows the values 41
and 40

acceptable explanation
eg, with Yes indicated

* They are both 41

* They are 40.75 and 41375

14075 rounded or truncated
Accept 41, 40.8 or 40.7
Do not accept 40

41.375 rounded or truncated
Accept 41, 41.4, 413, 41.38 or 41.37
Do not accept 42

40.75 from incorrect working
Note that pupils who add 1.25 rather
than multiplying generate the shoe sizes
40.25 and 4075

For 3m or 2m, do not accept explanations
based on such misconceptions

e
* They are both 41 as
7.5+125+32=41
74125432=41





